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Optics Solution for IR7

• Present optics solution in IR7
• 90˚ cell: secondary collimators at 45˚, 90˚, 

135˚, 180˚ from primary collimator

Comparison of
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Why looking for a new solution?

• Impedance depends on the beta function
at the collimator location. The location of 
some collimators not appropriate in terms
of impedance.

• Space problems in IR7: splitting of quads, 
etc.

• Phase advance condition – cleaning
efficiency?
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Which phase advance between
collimators?

Present Scheme in IR7:
Secondary collimators to 
remove particles scattered 
out at primary collimators

2D: 4 secondary collimators per primary 
collimator



Present Solution in IR7:Reduced Version
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Different Optics Layout

• 4 collimation planes 
• Phase advance between collimators of 

one collimation plane: 45˚
• Enough space provided (secondary: 3m, 

primary: 1m)
• Test with simple FODO-cells
• Length of FODO cell: 175m, βmax: 290m, 
βmin: 60m
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2 possibilties investigated:
I) Collimators
after quads
II) Collimators at 
locations with
βx ~ βy

Compatible with beam2?



FODO, version II:
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Is it possible to match such an 
insertion?


